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§ TTL-8R3HDBL-3 Red GaA/As Red Diffused 625 100.0
TTL-8G3HDBL-3 Green GaP . Green Diffused 565 200
= TTL-8Y3HDBL-3 Yeliow GaAsP/GaP Yellow Diffused 590 20.0
= TTL-B8R3SDBL-3 Red GaA/As Red Diffused ) 660 400
2 TTL-8G3SDBL-3 Green GaP Green Difiused 568 40.0
2 TIL-8Y3SDBL-3 Yellow ~ GaAsP/GaP Yeliow Diffused 585 800
= TTL-BR3HCBL-3 Red Gat/As Water Clear 625 300
- TTL-8G3HCBL-3 Gireen GaP Water Clear 565 50
= TTL-8Y3HCBL-3 Yellow GaAsP/GaP Water Clear 590 50
= TTL-8R3SCBL-3 Red GaAlhs Water Clear 660 500
2 TTL-8G3SCBL-3 Green - GaP Water Clear 568 100
TTL-8Y33CBL-3 Yellow Gab/As Water Clear 585 2000

= TTL-10R3HDBL-4 Red GaA/As Red Diffused 625 100.0 - 4000 38
= TIL-10G3HDBL-4 |  Green GaP Green Diffused 565 200 - 700
= TTL-10Y3HDBL4 | Yellow GaAsP/GaP Yellow Diffused 500 200 - 700
= TTL-10R3SDBL4 Red GaAlhs Red Diffused 660 650 - 800 :
TTL-10G3SDBL4 Green GaP Green Diffused 568 70 - a0

2] TTL-10Y3SDBL-4 Yellow Gad/As Yellow Diffused 595 ~ 2000 - 3500 :
= TTL-10R3HCBL-4 Red GaA/As Water Clear 625 300 - 500
== TTL-10G3HCBL-4 Graen GaP Water Clear 565 50 - 175
= TTL-10Y3HCBL4 Yellow GaAs/GaP Water Clear 580 50 - 175
= TTL-10R3SCBL-4 Red GaA/As Water Clear 660 500 - 1000

TTL-10G3SCBL4 Green GaP Water Clear 568 175 - 460
=1 TTL-10Y3SCBL-4 Yellow GaA/As Water Clear 595 2000 - 3000




